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typedef struct BiTNode

{ char data;
struct BiTNode *Ichild, *rchild;
} BiTNode,*BiTree;

void inorder( BiTNode *p)
{
if (p!=NULL){
inorder(p—>Ichild);
printf(“%c”,p—>data)
inorder(p—>rchild);

g[n][n]
struct edgenode
{ int adjvex;

edgenode next;



typedef edgenode *adjlist[n];

void matritolist (int g[][], adjlist gl, intn )
{ edgenode *p, *q;
for (int i=0 i<n; i++) gl[i]=null;
for (int i=0; i<n; i++)
for (int j=0; j<n; j++)
{ifelil=0)
p = ( edgenode *) malloc(sizeof (edgenode));
p->adjvex=j;
p->next=null;
if(gl[il=null) {gl[i]==p; q=p;}
else {q->next=p; q=p;}



